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I .Band Four

Part One Dictation

Section A Spot Dictation

Directions: In this section, you will hear 25 passages each about
120 words three times. Each passage is printed on your Answer
Sheet with about 50 words missing. First you will hear the whole
passage from the beginning to the end just to get a general idea
of it. Then, in the second reading, you will hear a signal
indicating the beginning of a pause after each sentence,
sometimes two sentences or just part of a sentence. During the
pause, you must write down the missing words you have just
heard in the corresponding space on the Answer Sheet. There is
also a different signal indicating the end of the pause. When you
hear this signal, you must get ready for what comes next from
the recording. You can check what you have written when the

passage is read to you once again without the pauses.



1

Body temperature can affect how happily, or unhappily, we
awaken. (1) s our

body temperature (2)

. Although we don’t notice the change, (3)
. When body temperature is up,

(4) . As it falls, we grow tired and,

eventually, (5) . As a result, anyone who

has a fast-rising temperature cycle (6) “

”

; . An “evening person”, on the other

hand, (7) . It does
not hit its high point until mid-afternoon (8)

2

The American family unit is in the process of change. (1) o
mainly two types of families. the extended

and the nuclear. The extended family most often included
mother, father, children, (2)

» such as grandparents, (3)

. Then as job patterns changed and @

» people were forced to

move to (5)

These moves split up the extended family. The nuclear family
(6) ; this consisted of (7)
. Now, besides these two types (8)

s the word family is being expanded (9)




3

Thanksgiving dates back to .the days of the early New
England colonists who were having difficulty living in the New
Land. (1D , without the help of the native
American Indians, (2) . The Indians

showed the colonists how to hunt wild turkeys and (3)

. In the fall, the Indians and colonists (4)

. In reality, the colonists

and Indians (5) , and this first

Thanksgiving dinner (6)
. Even so, (7)

for a turkey dinner (8)

4

Oxford and Cambridge are two very old and respected
universities in the United Kingdom. Each has been (1)

. There are more than (2)

The British system of education has influenced the systems of

education (3) . Many of these nations

were (4) the
United Kingdom today.

The British people (5)

. For example, the many British (6)

the colonists of 300 years ago (7) in

the United States today. The first American universities (8)
of Oxford and Cambridge.

w



5

A student learning English occasionally meets the following
problems when he listens to talks or to lectures. It is difficult to
decide (1) . In

speech, many sounds cause a student difficulty and (2)

. Some words in English,

(3 , have a weak form. (4)

In addition, many students

sometimes do not hear the unstressed syllable in the word. (5)

The lecturer (6) and who

pronounces his vowels (7) will be
difficult to follow. (8) when the lecturer

speaks with a B. B. C. accent.
6

Art is sometimes divided into two kinds, high art and

popular art. High art appeals to (1)

than popular art, but (2)

. People who enjoy high art (3)

and symphony concerts; they read serious

books ; they (4) at

museums and galleries. Popular art (5)

Some TV programs (6)

. Many popular songs (7)

; then they disappear. (8)

__for such a long time that they become classics. Thus the line

between high and popular art (9) ,
4




7

Edelweiss is the Swiss (1) : . The
blooms are small and white. (2) . In the
Alps edelweiss grows wild. (3) . It grows

high up in the mountains, near the area where (4)

Most of the plants are found

(5) . Young men

sometimes bring edelweiss back for their girlfriends. The girls
think of the flowers (6) . Mountain
climbers, guides and hunters pick edelweiss too. (7)

. To them it is (8)

8

More and more often we heard of people talking about

caraoke. (1) , still remains a question to

many people. Caracke is a sort of acoustics equipment which was

originally invented in Japan (2)

. It means (3) “ ”

. In fact, it is just a cassette tape (4)

. This equipment first appeared (5)

and mainly for the customers (6)

Most of the music in caraoke was

popular music. (7) , caraoke was spread

to the whole world. It was introduced to China (8}




9

Troy was surrounded by strong walls (1)

. For hundreds of years, Troy had

been growing in power and the Trojans (2)
that they thought that (3)

. But then hundreds upon thousands of Greeks laid
siege to Troy and came to avenge the wrong done to Greece (4)
. The Greeks laid siege to Troy and (5)

. But the walls were

strong (6) . Many

fierce battles were fought outside the city gates. Sometimes the
Greeks (7) )

sometimes the Trojans, (8)

10

Ladies and gentlemen, may I have your attention, please?

1§D » but according

to regulations, I’ll explain about (2)

in case any difficulty should arise. If an

emergency should arise, your captain will first radio an SOS (3)

. Next he will inform you (4)

. You should cooperate and

remain calm, (5)

If it is a water landing, (6)

. We’ll demonstrate (7) . One
important thing is to remember not to fill the cabin because it
will make it harder (8)

6




11

Hundreds of cinemas in Britain have closed (1)
. Others have had to introduce

new ways (2) . But

cinemas still draw large audiences (3)

. It seems that the future of the cinema (4)
. With new

techniques in film-making will come (5)

, and this, it is hoped, will bring people

back to the cinema. (6)

is the Saturday morning film session for children, who

will, (7) , develop the habit of regular

cinema-going (8)

12

Alex Haley was born in the northeastern of New York, (1)

in Tennessee. His

grandmother told him stories about their family. Their family

history , she said (2)

_ . Alex remembered the stories (3)

. He began to study his family story. (4)

and made a trip to

Gambia, (5)
Then he decided (6)
. For ten years, he had researched and written his family story
for the boock “Roots”. (7)
. Several years later, a film series based on his book

7
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13

Automotive pollution is (1) . Heavy

traffic and gasoline engines (2) . In order

to solve this problem, (3)

. Tt is an electric bus, (4)

It can go eight hours before recharging is

needed. Although the bus can carry (5
, the prototype is designed to carry

eighteen persons. (6)

. This new bus can be used (7) V such’

as industrial complexes and university campuses. It is now being

used (8)

14

Plants open and close at different times of the day. People
used to make gardens in the shape of a clock face, ¢9)

. It was possible to tell the

time just (2) .. No

one really understands why flowers (3)

, but recently (4)

In one, flowers were put in a laboratory

(5 . One might predict that these flowers
would not open (6) . But in fact they
continue to open as if (7) . This suggests

that they have some (8)

; that they have, in other words, (9)




15

There is no denying that English is a useful language. The

people who speak English today (1)
in the world (2)
speakers of Chinese. Originally (3)

living in northern Europe (4)

Isolated in their island

community (5) which became more and

more similar to each other and less and less like the other

languages of Europe. The people (6)

through their shared language. In time, people

moved from the small island to many parts of the world, (7)
and thus still

remaining (8)

wherever they settled.

16

Where does man live in his twentieth-century world? If you

examine a population map, you will see (1)

These centers are surrounded by

larger areas, (2) . What does a man need
3 ? He must

have water. He naturally (4)

. Even some nomads, (5)

, must travel to spots where there are water

holes. Water (6)

He also needs food to (7) and a shelter in

which he can be safe from attack. Therefore, he must have
9



